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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

08:00 283 150.0 28.875 FA| FHA@08:00 KENFEF (KRFTERES)
08:35 283 150.0 28.875 FA| iHA@08:35 KENFEF (KRF1ERELES)
09:20 283 150. 0 28. 875 FB| FiHA@09:20 KENFEF (FKAEEHE)
10:00 283 150.0 28.875 FA| FiHA@10:00 KEFEF (KRFAEREES)
10:35 283 150.0 28.875 FA| FhHA@10:35 KEFEF (KRR
11:05 283 150. 0 28. 875 FB| FiHA@11:05 KREFEF (KAFZHE)
11:35 283 150.0 28.875 FH| FhHA@11:35 REFEF (RATREES)
12:05 283 150.0 28.875 FA| FiHA@12:05 KRHEF (RKRAEZHS)
12:35 283 150. 0 28.875 FB| FiHRe12:35 KEIEF (KAEHE)
13:05 283 150. 0 28. 875 FB| FiHA@13:05 KREFEF (KAFZHE)
13:35 283 150.0 28.875 FA| FiHR@13:35 KRHIEF (KAL)
14:05 283 150. 0 28. 875 M| FiHRe14:05 kEEF (RAFERSE)
14:40 283 150. 0 28. 875 M| FiHAe14:40 KEEF (RAFRSE)
15:15 283 150.0 28. 875 FA| TiHR@15:15 RHEF (RKAEZRKS)
15:55 283 150.0 28.875 FA| FhHHe15:55 KHEF CRAEZRS)
16:45 283 150. 0 28. 875 M| FiHAe16:45 KEEF (RAFESE)
21t 4528.0 (16)%) 2400. 0 32933 %EC: 2080.0, PH: 6.0

FEIKECE (2007.0 vs 4153.0) 15
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P3-12_0, Day=60 (2025-06—01)
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P3-12

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

06:35 283 150.0 28. 875 FE| 1BRi%@06:35 Bz (kBEREE)
07:35 283 150.0 28. 875 FA| {Ri&@07:35 Bzl (kAEREEE)
08:45 283 150.0 28.875 FH| 1RRi%@08:45 Bz (KAERESE)
09:50 283 150.0 28. 875 FH| 1BRi%@09:50 B (kAB{ERE)
10:55 283 150.0 28. 875 FH| 1Bi&@10:55 Bzh (RAEREE)
12:20 283 150.0 28.875 FA| 1BRi&e12:20 B3 (RAHERSE)
2411 1698.0 (6:%) 900. 0 3ESHKEC: 2080.0, PH: 5.8

TERRHER 2 STEEART (187.0 :

ZRIALBRIERE153.0 ml.

HEEHECE (2087.0 vs 4613.0) 15

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=59 (2025-05-31)
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m=420, FV0=0 m=460, FV0=0 m=525, FV0=0
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845 850 855

m=975, FV0=0
—— MW

50 -
49 -
48
47 -
46

T T T

975 980 985
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P3-12

ByiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

06:35 283 150.0 28. 875 FE| 1BRi%@06:35 Bz (kABERSE)
07:20 283 150.0 28. 875 FH| 1BRi%@07:20 Bzh (KRABERSE)
08:05 283 150.0 28.875 FE| 1BRi%@08:05 B (FkAERSE)
09:15 283 150.0 28. 875 FE| 1BRi%@09:15 Bz (kBERE)
10:25 283 150.0 28. 875 FH| 1Ri%@10:25 Bzh (RkEBERSE)
11:15 283 150.0 28.875 FA| 1Ri%@11:15 Bzh (RAERRSE)
11:55 283 150.0 28. 875 FE| 1BRi%e11:55 Bz (kBERSE)
12:35 283 150.0 28. 875 FH| 1Bige12:35 Bzh (RAEREE)
13:15 283 150.0 28.875 FA| 1Ri%@13:15 Bzh (RAERRSE)
14:00 283 150.0 28. 875 FH| 1BRi%@14:00 B3 (kAERSE)
15:10 283 150.0 28. 875 FH| 1Bi&e15:10 Bzh (RAERES)
16:30 283 150.0 28.875 FH| 1Ri%@16:30 B3h (RAERESE)
23t 3396.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.7

MEREHLER 2 5 MEIELRT (184.0
ZRIALBRERE153.0 ml.

153.0), AIEEHT—@E XA HS

large discrepency for begining water status (297:72.0), set to 297 ml.
BE[ERECE (2220.0 vs 4760.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=58 (2025-05-30)

150 A

100 A

50

zgdovﬁﬁﬁRv,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

2208

1800 836
594 485

80 20
Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

FRV (ml d-1)

T
—_
o
o
o

0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.7 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 - 4000
400 4By Init! @60 01:50: ET=2160 Fg=2700.0 Ro=590.0 o
+
300 - : o—eo 3000 s
1 ——@ : : S
200 - | > - 2000 £
l 1
100 4 : _— - 1000 §
)—o—io—o—o -
403_ 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
o|Zn| B | B | BB | K| BB | B B 5 5 5 B 5 | BB 5 B 5 5 5 B 5 i~
1 - 3000 €
300 1 ByEt @D58 16:06: ET=1534 Fg=1800. 0 Ro=nan : %’_
~N
200 e : - 2000 £
/./ 1 =
100 4 . ~ 1 - 1000 €
| [&]
p————@ © —€ S : ——
I e e e " —"
408 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
n|lz=|z=| BB | FB | A [ BB | BB | BA [ BH | FR | BR [ BB | FR | BA [ BB | FAR | BH [ BB | A |[Z=|Z=|&5=]| M o~
1 - 3000 €
300 ByWon: @D60 01:50: ET=1485 Fg=1800.0 Ro=343.0 %_
~N
200 : - 2000 £
l 1
100 4 1 - 1000 €
1 5}
o —lo—— & —©
i T Sl P i e e —
1.0 0 1 2 3 4 0
0812|2555 | BB | M
0.6 -
0.4
0.2 A
0.0
—_— 4

40 -

o | _obs
—@— PPFD obs

m ® VP




m=420, FV0=0 m=460, FV0=0 m=530, FV0=0

2851 o wE 29. 4 o— NE o NE
29. 4
29.2
28.0 99, 7
29.0
97 5 29.0
28.8 08, 8 4
27.0
28.6 1 28.6 -
T T T T T T T T T T T T T
400 600 800 1000 420 425 430 460 465 470 530 535 540
m=595,m FV0=0 m=645,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
- ME —— ME 30.07 o nE 30.21 o
29.6 29.8
29.8 30.0
29. 4 29.6
29.6 29.8
29.2 29. 4
29. 4 29.6
29.0 29.2
29.2 29. 4
28.8 29.0
29.0 29.2
28.6 28.8
T T T T T T T T T T T T
595 600 605 645 650 655 690 695 700 725 730 735
m=760,m FV0=0 m=7995,m FV0=0 m=835,m FV0=0 m=885,m FV0=0
—o— ME 30471 o ME 3047 o wmE —o— ME
30. 2 30. 4
30. 2 30. 2 1
30.0 30. 2
30.0 30.0 1
29.8 30.0
29,6 29.8 29.8 99, g
29 4 - 29.6 29. 6 29.6
29.2 29. 4 29. 4 29. 4
760 765 770 795 800 805 835 840 845 885 890 895
m=955,m FV0=0 m m=420,m FV0=0 m=460,m FV0=0
30.50 7 —— ME —— MW 49 - —— MW
45 -
30. 25 -
44 - 48 1
30. 00 -
29.75 4 43 7 47 1
29.50 42 1 46 -
29. 25 - 41
T T T T T T T T T T 45 L T T T
955 960 965 400 600 800 1000 420 425 430 460 465 470



m=530, FV0=0

48 A
—— MW
47 -
46
45 -
44 -
T T T
530 535 540
m=725,m FV0=0
—— MW
46 -
45 -
44 -
43
T T T
725 730 735
m=885,m FV0=0
—— MW
47 -
46
45 -
44 -
885 890 895

m=595, FV0=0
48 —— MW
47 -
46
45
44 L T T T
595 600 605
m=760,m FV0=0
—— MW
46
45
44 -
43
T T T
760 765 770
m=955,m FV0=0
—— MW
47
46
45
44 -
955 960 965

m=645, FV0=0
47 - —— mu
46
45
44
T T T
645 650 655
m=795,m FV0=0
—— MW
46
45
44
43 +§ .
795 800 805

m=690, FV0=0
—— MW
46
45 -
44 -
43
T T T
690 695 700
m=835,m FV0=0
—— MW
47 -
46 -
45 4
44
T T T
835 840 845




hour

10:
11:
11:
12:
13:
13:
14:
14:
15:
15:
16:
22:
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80

- 60

- 40

§_



P3-12

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:25 283 150.0 28.875 RS {Ri&e07:25 Bl (REAEHSE)
08:00 283 150.0 28. 875 RS {RRi%@08:00 Bz (RFEAEREE)
09:00 283 150.0 28.875 (Z=| 1Ri%e09:00 B3h (FREEESE)
09:50 283 150.0 28.875 [Z=| 1Ri&e09:50 Bzh (FREERSE)
10:30 283 150.0 28.875 |Z=| {Ri&e@10:30 Bz (REAEHE)
11:05 283 150.0 28.875 (Z=| 1Ri%e11:05 Bzh (GREEESE)
11:45 283 150.0 28.875 [ =| 1Rige11:45 Bzh (GREAERESE)
12:25 283 150.0 28.875 | =| {Ri&e12:25 Bz (REEHE)
13:00 283 150.0 28. 875 e Ri&e13:00 Bz (REAERSE)
13:30 283 150.0 28. 875 S| 1Rige13:30 Bah (REERESE)
14:00 283 150.0 28.875 BE| Rige14:00 Bz (REAEHE)
14:35 283 150.0 28. 875 e Rige14:35 Bz (REAERSE)
15:10 283 150.0 28. 875 B Rige15:10 Bz (REERSE)
15:50 283 150.0 28.875 BE| Rige15:50 Ba (REAERE)
16:50 283 150.0 28.875 | =| {Ri&e16:50 Bzl (REAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (2323. 0 vs 4623.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=57 (2025-05-29)

150 A
100 A

50

(¢
200 -
150 -
100 A

50 -

5 2600 448

2000 953
684

20

Warning: lcol [FVI',| "FVO’'] missing

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad JFRV, ET 2944 | 3000
- 2000

80 - 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300

100 A

o —s——i¢

I
I
I
]
200 :
I
1
]

|
400 4By tnit}@D60 01:50: ET=2018 Fg=2550.0 Ro=539. 0 i

- 3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

]
300 4 ByEt @57 19:07: ET=2175 Fg=2400. 0 Ro=nan 4
200

100 A

22
0 1 2 3

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 5 i 5 5 5 i 5 5 G A 5 5 G A 5 5 G A B 5 G A

3000

- 2000

- 1000

4 5 6 7 8 9 10 11 14 15 16 17 18 19 20 21 22 23

400

]
300 ByWon:@DGO 01:50:ET=1953 Fg=2250. 0 Ro=429.0
200

100 A

N S — S——
0] 11213

12 3
BB | s | B[ | B[k | B[R |BIZZ|ZE[(ZZ|ZE[ K | KB [ KB || W | A | B | BB |H|Z=

3000

- 2000

- 1000

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.8 1+—2
0.6
0.4+

0.2~

5 | BB [ | i [k | i | B | | B | ZZ|ZE[(2= |2 | B [ |Z=[ B | | MW | BB |HA|Z=

|
| _obs
PPFD_obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



29,

29.

29.

28.

28.

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29,

29.

30 1
29 -
28 |
27
26 |
T T T T
400 600 800 1000
m=600,m FV0=0
4]~ ME
2_
0_
8_
6_
4_
T T T
600 605 610
m=740,m FV0=0
27 —o— ME
0_
8_
6_
4_
2_
740 745 750
m=860,m FV0=0
61 —o— M_E
4_
2_
0_
8_
6_

860 865 870

27.

26.

26.

25.

29.

29.

29.

29.

29.

30.

30.

29.

29.

29.

30.

30.

30.

30.

29.

29.

m=435, FV0=0

M_E

440 445
m=635,m FV0=0

—o— ME

6&0 6&5
m=770,n FV0=0

—o— ME

7%5 7é0
m=895,n FV0=0

770

1 o

M_E

i
i
5

895 900 905

28.

28.

28.

28.

27.

27.

27.

30.

29.

29.

29.

29.

29.

30.

30.

30.

29.

29.

29.

30.

30.

30.

30.

29.

29.

m=475, FV0=0

M_E

4é0 4é5
m=670,n FV0=0

—o— ME

6;5 GéO
m=800,n FV0=0

—o— ME

7

865 8%0
m=935,n FV0=0

-o— M_E

940 945

29.

29.

28.

28.

28.

28.

30.

29.

29.

29.

30.

30.

30.

30.

29.

29.

30.

30.

30.

30.

29.

29.

m=540, FV0=0

M_E

5&5 560
m=705,n FV0=0

—o— M_E

=

7%0 7%5
m=830,n FV0=0

—o— M_E

8é5 8&0
m=975,n FV0=0

830

—o— M_E

975 980 985




m=1040, FV0=0

30. 4

30. 2

30.0

29. 8 -

29. 6

29. 4 -

M_E

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050. 0 1052.5

m=540,m FV0=0

45 -

44 -

43

42 -

—— MW

>

5&5 5%0
m=705,n FV0=0

46 -

45 -

44

43 A

—— MW

e

7%0 7%5
m=830,n FV0=0

46

45 A

44 -

-— MW

7
i

835 840

38 1 —— MW
T T T T
400 600 800 1000
m=600,m FV0=0
457 —— MW
44 1
43 1
42 1
414
T T T
600 605 610
m=740,m FV0=0
—— MW
46 -
45 1
44 |
43 -
740 745 750
m=860,m FV0=0
—— MW
46 1
45
44 1
43 4

860 865 870

m=435, FVO0=0
44
—— MW
43 -
42
41 4
40 -
39 -
38
435 440 445
m=635,m FV0=0
—— MW
45 4
44
43 -
42 -
635 640 645
m=770,m FV0=0
—o— MW
46 -
45 -
44
43 -
770 775 780
m=895,m FV0=0

46

45 ~

44 -

43 -

-o— MW

895 900 905

m=475, FV0=0
47 |
—— MW
46
45 -
44 1
43 -
42
475 480 485
m=670,m FV0=0
46 -
—— MW
45
44
43
670 675 680
m=800,m FV0=0
—— MW
47
46 -
45
44
800 805 810
m=935,m FV0=0
46 1 —— MW
45 -
44
43 -
935 940 945




m=975, FV0=0

47 -
—— MW
46 -
45 -
44 -
T T T
975 980 985

m=1040, FV0=0

47 -

46

45 ~

44

—0—

M_W

T T T T T T
1040.0 1042.5 1045.0 1047.5 1050.0 1052.5

m




hour
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P3-12

BYiE) | GEBATIK () | ERE (EA/) | EREE(B/R) | XS ERE

07:40 283 150.0 28. 875 e {Ri&e07:40 Bl (REAEESE)
08:15 283 150.0 28.875 RS {Ri&e08:15 B (REAEHE)
09:05 283 150.0 28. 875 RS {RRi%@09:05 Bz (REEREE)
09:50 283 150.0 28. 875 A5 {Ri%@09:50 Bz (RFEERER)
10:25 283 150.0 28.875 sl Rige10:25 Bal (REAEHE)
11:00 283 150.0 28.875 B 1Ri%e11:00 Bz (GREMEEEE)
11:35 283 150.0 28. 875 S| Ri%e11:35 Bz (REERERSR)
12:05 283 150.0 28. 875 BE| Rige12:05 Ba) (REAEHSE)
12:40 283 150.0 28.875 S| Rige12:40 Bz (REAEHE)
13:10 283 150.0 28. 875 el Rige13:10 Bz (REAERSE)
13:40 283 150.0 28. 875 el Rige13:40 Ba) (REAERHE)
14:10 283 150.0 28.875 BE| Rige14:10 Bz (REAERE)
14:40 283 150.0 28. 875 e Rige14:40 Bz (REAERSE)
15:15 283 150.0 28. 875 el Rige15:15 Ba) (REEESE)
15:50 283 150.0 28.875 BE| Rige15:50 Ba (REAERE)
16:30 283 150.0 28. 875 BE| RiBe16:30 Bz (REAERSE)
17:25 283 150.0 28. 875 el Rige17:25 Bal (REEESE)
2it] 4811.0 (17%) 2550. 0 3EIUHIKEC: 2080.0, PH: 5.6

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[EEECZE (2400. 0 vs 4320.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=56 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
V1, VO #RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576

100 - 653 - 2000

50 A - 1000

40 20
Warning: lcol [FVI',| "FVO’'] missing

=

(¢
200 -
- 30
150 -

100 A - 28 =

[S3)
o
1

- 26

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
]
300 - Bylnit:@DGO 01:50: ET=1796 Fg=2250.0 Ro=483.0 ?3000

\//\
Y
0_? T:’ '

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
GO I O O

ByEt @D56 19:07: ET=1835 Fg=2142.0 Ro=nan P e
- 2000

LT
I 1 N O S

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 19 | 20 | 21 22 23
GO I 0 O I B m | %

| L ——1— 13000
ByWoFv!@D60 01:50: ET=2031 Fg=2550.irfj;:jf;9“ .

B B 5] B

200 - - 2000

o9

\/

100 L 1000

!

(

|

—_
(o]
—_
©
N
o

21 22 23

E3 E3 ES

B B B 5] 3000

f==1
T0H
E=-1
Tt

I

200 -

-t
x
I

100 -

—_
co

I
I
I

|
|
|

200 -

- 2000

(11111 F A ——y

B B 5] B B B 5]

I

|

|

_ 1
100 |
1

1

)

0.8 ] A

0.6

0.4+

0.2~

|
| _obs
PPFD_obs

80 -

60
—— RH

404+ @ RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29.

29.

29.

29.

28.

28.

28.

30.

30.

29.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

29.

T T
600 800

m=590,m FV0=0

T T
595 600

m=745,m FV0=0

7é0 765
m=890,n FV0=0

75 A

50 A

25 A

00 -

75 -

50 A

25 -

——

895 900

28.5

28.0 A

27.5 A

27.0 -

26.5 A

29.

29.

29.

29.

28.

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

m=450, FV0=0

T
450

T T
455 460

m=635,m FV0=0

75 1

50

25 A

00 -

75 A

50

T T
640 645

m=780,m FV0=0

25 - —0—

00 -

75 A

50

25 ~

00 -

780

785 790

m=930,m FV0=0

75 4

50

25

00 -

75 -

50 -

930

935 940

29.

28.

28.

28.

28.

30.

29.

29.

29.

29.

29.

28.

30.

30.

29.

29.

29.

29.

30.

30.

30.

29.

29.

29.

m=495, FV0=0

——

560 565
m=675,n FV0=0

0_

650 6é5
m=820,n FV0=0

25 A

00 ~

75 -

50 A

25 A

00 -

820

8&5 8é0
m=980,n FV0=0

50 A

25 A

00 ~

75 -

50 -

25 -

——

980

985 990

29.

29.

29.

28.

28.

30.

29.

29.

29.

29.

29.

30. 50 A

30. 25 A

30. 00 A

29.75 A

29.50 A

29. 25 A

38

m=535, FV0=0

535 5&0 5&5
m=710,n FV0=0

710 7%5 7&0
m=855,n FV0=0

—&— M_E

855 860 865

600 800



m=450, FV0=0

a4 —— MW
43
42
41
40 -
39
T T T
450 455 460
m=635,m FV0=0
—— MW
44
43
42
41 1
T T T
635 640 645
m=780,m FV0=0
47 -
—— MW
46 -
45 -
44
43
780 785 790
m=930,m FV0=0
46 7 —— MW
45
44
43 1

930 935 940

m=495, FV0=0

46 A

45 -

44 -

43

42

—— MW

560 565
m=675,n FV0=0

45 ~

44 -

43 -

42

41

—— MW

650 6é5
m=820,n FV0=0

46

45

44

43 -

42 -

—o— MW

820

8&5 8é0
m=980,n FV0=0

46

45 -

44 -

43 -

-— MW

7

980

985 990

m=535, FV0=0

47 A

46 -

45 -

44 -

43 A

—— MW

535

5&0 5&5
m=710,n FV0=0

48 -

47 A

46 -

45 -

44 -

43 -

—— MW

710

7i5 7&0
m=855,n FV0=0

45 -

44 -

43 A

42 -

—o— MW

855

860 865

m=590, FV0=0
451 —— MW
44 4
43 -
42 4
41 4
T T T
590 595 600
m=745,m FV0=0
P
45 -
44 4
43 4
42 R T T T
745 750 755
m=890,m FV0=0
46 -
—— MW
45 4
44 4
43 4
890 895 900




